CD

7QOO Ge\{ PP

=) = 1 - L L A R
& —
U'_:_' 10° _— (pT > 0.2 GeV)
g =
< 2
g 10° £
© — ”Q’
_‘ K

<
et

=
(@)
A

%

*,
¢ "‘
%
10
QQ‘
0” .
¢ %

----- ¢ Sherpa 1.4.2 default

0
000000000000000“00
¢

Spft Q

Rivet 3.1.0, 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

=
o
o
T T T |IIII||||L|I’_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

N

L 111 |IIII|IIII’ﬂ] IIIIIIII| IIIIIIIII IﬁIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| LI

Ratio to Sherpa 1.4.2 default
[N

0.5 -

—0.5

o 5 10



	Contents
	Page 1


